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Subject : AEC 102, 3(2+1) Farm Managemeat and Production Economics

Candidates are required to give their answers in their own words as far as practicable. All
questions carry equal marks. Answer any 10 questions.

What is farm management? Discuss the scope and importance of farm management in (143=4)

‘J/ the socio-economi
-economic development of farm households.

2~ Enlist the economic principles applied in farm management decisions. Discuss when (2+2=4)
and how an entrepreneur adopts the law of equi-marginal returns in decision-making.

\;/ The relationship between output (Y) and input (X) is Yé3000+20X—0.2X2. The unit
prices of output (Py) and input (Px) are NRs. 12 and NRs. 15, respectively. Form the (4)
production function equation and prices giyen, estimate the optimum level of
production and marginal product and net income at the optimum level of production.

4, What are the major risks and uncertainties associated with dairy enterprise? How does (2+2=4)

_the adoption of jnsurance play an’important roldyin risk management of this entérprise?. | =
J/ What is an income statement? Discuss its impor;mce in farm management. (1+3=4)
6. /How can an entrepreneur assess the growth ‘and development of his/her business? @)

Describe some techniques with their scope. _I
7., Define depreciation. A farmer purchased a Fachinery three years ago with NRs.
n

Vv’ 300,000. Now he/she wants to sell the 'machi ry. Estimate the price to be offered by (1+3=4)

farmer to sale the machinery. .
8. A Farm Manager generally has to make wise decisions while purchasing costly
v machinery/equipment. Discuss some technique|with examples that a Farm Manager can 4)
adopt.
9. Dissuss the scope and application of linear programming technique in farm @)
management decision. : ' :
1 * (2 X 2=4)

0 Differentiate between (with examples): | _ IO
a. Net worth analysis and Profitability analysis b. Expansion path and ridge lines
‘ |

L Write short notes (with examples): 8 :
> Divisign of labor : \ i (2%2=4)

b. Cobb-Douglas production function i |
e r
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